Interprétation
de groupes fonctionnels organiques
a partir des spectres suivants

1) Alcane (Hexane)

2) Alcéne (Hexéne)

3) Alcyne (Heptyne)

4) Aromatique (Toluéne)

5) Alcool (Hexanol)

6) Amine (Hexylamine)

7) Aldéhyde (Heptaldéhyde)

8) Cétone (Heptanone)

9) Acide carboxylique (Acide Heptanoique)
10) Ester (Acétate d’éthyle)



N TN

i

INTE DIGITALE

. /_/—\‘/'\
CH3 -~~~ CHy F r.{-’\/“'_" _\\
Hexane
0 -l -
/V
06 Hexane i 1k 5B
Examine this spectrum
of hexane, then press
the arrow to continue. | \
0.4 l ‘\ _
‘ /
0.2 ) /Z ‘
%/
Y }
0.0- Expand Expand
4000 3500 3000 2500 2000 1800 1600 1400 1200 1000 S00 600 cm™! 400I
2860-2960 cm-! 1460 cm-! 720 cm-!

1380 cm-!




EMPREINTE DIGITALE

1.0+
- ‘_‘H

08‘:\\/’N\vfﬁﬁ§

1-Hexene

04

02

41
/|

oIl 3000

2500

M

‘-]

Can you determlne which p toks
arise from the double bond? (| lint:
overlay the spectrum of hexar| |.)
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1-Heptyne

Can you determine which |hed.
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Can you determine whicl| pecks
QH group? (Hint:
of he \ane.)
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Heptaldehyde
Can you determine which pecks crise
from the cldehyde group? (Hint:
overlay the spectrum of hexane.)
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3-Heptanone

3-Heptanone
Can  you determine
which pecks arise from
the ketone group?
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Heptanoic Acid

Con you determine
which pecks arise
from the acid group?
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Can you determine
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from the ester group?
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